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doanh nghiép khac nhau 15 diém 4
cau la
1.6d)

Tu luan 15% Cau 3 1d

Van dung tu duy phan
bi¢n vao tw van ra quyét s Cau 1.3 0.5d

dinh kinh doanh cho Ty lugn 5% P14.1
doanh nghiép.

CLO4

I11. Noi dung cau héi thi '

PHAN TRAC NGHIEM (15 cau — 6 diém- 0.4d/ciu)

Caul

If the relationship between production costs and output is connected by the linear
relationship y = 75x + 47,000, what is 47,0007

A. The fixed production costs

B. Total production costs

C. The production cost if 75 units are produced

D. The number of units produced

ANSWER: A

Céu 2
Which of the following is a feasible value for the correlation coefficient?
1. +0.03
2. +1.02
3.0
4. -04
A.1,3and 4 only
B. 1and 2 only
C. 3and 4 only
D.1,2,3and 4
ANSWER: A

Céu 3:

Over a 34-month period sales have been found to have an underlying regression line of Y =
14 + 7.8X where Y is the number of items sold and X represents the month. What are the
forecast number of items to be sold in month 35?

A. 287 units

B. 279 units

C. 22 units

D. 273 units

ANSWER: A

Céu 4:

Based on the last seven periods, the underlying trend of sales is y = 720 — 2.75x. If the
eighth period has a seasonal factor of —25, assuming an additive forecasting model, then
the forecast for that period in whole units is:

A. 673 units

B. 723 units

C. 692 units
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D. 676 units
ANSWER: A

Céu 5:

Of what does the master budget comprise?

A. The budgeted cash flow, budgeted statement of profit or loss and budgeted statement of
financial position

B. The budgeted statement of profit or loss

C. The entire set of budgets prepared

D. The budgeted cash flow

ANSWER: A

Céu 6:

A company plans to sell 15,000 units of product A next year. Opening inventory of A is
expected to be 2,000 units and Company plans to increase inventory by 10 per cent by the
end of the year. How many units of product A should be produced next year?

A. 15,200 units

B. 14,800 units

C. 19,200 units

D. 13,000 units

ANSWER: A

Cau7

Which of the following are examples of capital expenditure?
A. Improvements to the earning capacity of non-current assets
B. Purchase of inventories

C. Depreciation

D. Pay wages for worker

ANSWER: A

Cau 8

A one-year investment yields a return of 13%. The cash returned from the investment,
including principal and interest, is $2,800. What is the interest?

A. $322

B. $233

C. $364

D. $346

ANSWER: A

Céau 9
A company manufactures a single product X, for which the standard material cost is as
follows.
$ per unit
Material 10 kg x $2.5: 25
During June, 500 units of X were manufactured, 5,500 kg of material were purchased for
$15,400, of which 4,900 kg were issued to production.
SM Co values all inventory at standard cost.
What are the material price variances for June?
A. 1,650 A
B. 1,650 F
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C.1470 A
D.1470F
ANSWER: A

Cau 10
A company manufactures a single product X, for which the standard material cost is as
follows.
$ per unit
Material 10 kg x $2.5: 25
During June, 500 units of X were manufactured, 5,500 kg of material were purchased for
$15,400, of which 4,900 kg were issued to production.
SM Co values all inventory at standard cost.
What are the material usage variances for June?
A.250 F
B. 250 A
C.1,250 A
D. 1,250 F
ANSWER: A

Cau 11
A company has recorded the following variances for a period:

Sales volume variance $6,000 Adverse
Sales price variance $5,000 Favourable

Total cost variance $8,000 Adverse

Standard profit on actual sales for the period was $80,000
What was the budget profit for the period?

A. $86,000

B. $85,000

C. $74,000

D. $88,000

ANSWER: A

Céu 12

Budgeted sales of A for December are 15,000 units. At the end of the production process for
A, 10% of production units are scrapped as defective. Opening inventories of A for
December are budgeted to be 2,000 units and closing inventories will be 5,000 units. All
inventories of finished goods must have successfully passed the quality control check. What
Is the production budget for A for December?

A. 20,000 units

B. 18,000 units

C. 12,000 units

D. 13,333 units

ANSWER: A

Céau 13
An accountant wishes to use the following spreadsheet to calculate budgeted production
units.
A B C D
1 July August September
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units units units
Sales 2,000 3,000 4,000
Opening inventory finished goods 200 300 400

Production

(op R &) BN~ JO I \V]

Which formula should be entered in cell C5?
A.=C3+D4-C4

B.=C3-C4

C.=C3+D4

D.=C3-D4+C4

ANSWER: A

Cau 14
To be able to produce a unit of product. The following is Dill production budget for next
month:
Opening inventories: 8,000 units
Budgeted sales of Dill 35,000 units
Planned closing inventories: 10,000 units
How many units should be producted next month?
A. 37,000 units
B. 33,000 units
C. 45,000 units
D. 43,000 units

ANSWER: A

Cau 15

The following details have been extracted from the payables' records of X Co:
Invoices paid in the month of purchase 30%

Invoices paid in the first month after purchase 60%

Invoices paid in the second month after purchase 10%

Purchases for July to September are budgeted as follows:

July $200,000

August $280,000

September  $300,000

For suppliers paid in the month of purchase, a settlement discount of 2% is received. What
is the amount budgeted to be paid to suppliers in September?

A. $276,200

B. $278,000

C. $256,800

D. $258,000

ANSWER: A

PHAN TU LUAN (3 cau- 4 diém)

Cau héi 1: (2 diém)
Suppose that a company is wondering whether to invest $18,000 in a project which would
make extra profits (before depreciation is deducted) of $10,000 in the first year, $8,000 in
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the second year and $6,000 in the third year. Its cost of capital is 10%. You are required to
evaluate the project.

Required:
1. What is the net present value (NPV) of the project (0.754)
2. What is the discounted payback period of the project (0.754d)
3. Following NPV, Should this project be done?(0.5d)

Cau héi 2: (1 diém)
Last month a company's budgeted sales were 5,000 units. The standard selling price was $6
per unit and cost per units was $2.4. Actual sales were 4,650 units with a total revenue
$30,225.
Required:

1. What were the sales price variance? (0.5d)

2. What were the sales volume contribution variance? (0.5d)

Cau heéi 3: (1 diém)

Budgeted production in a factory for next period is 5,000 units. Each unit requires five
labour hours make. Labour is paid $8 per hour. Idle time represents 20% of the total labour
time.

Required:
What is the budgeted total labour cost for the next period?

PAP AN PHAN TU LUAN VA THANG PIEM

Phan N@i dung dap an Thang | Ghi
cau diem | cha
héi

I. Tric nghiém 6.0

Cau 0.44d/

1- cau

15

Il. Ty luan 4.0

Cau | 1.1 The net present value (NPV) of the project 0.75d

1 Year  Cash flow | Discount factor PV

-18,000 -18,000
1 10,000 0.909 9,090
2 8,000 0.826 6,608
3 6,000 0.751 4,506
NPV 2,204
(0.25d) (0.25d) (0.25d)
1.2 The discounted payback period of Project 0.75d
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Year | Cash flow d;sg;(igrnt PV Cumleillg\tl:lve cash
-18,000 -18,000
1 10,000 0.909 9,090 -8,910
2 8,000 0.826 6,608 -2,302
3 6,000 0.751 4,506 2,204
(0.58)

The discounted payback period of Project is Between 2 and 3 years
(0.254)

1.3 Project should be undertaken because the NPV of Project greater
than 0, that means the project is profitable

0.5d

CAau | 2.1 The the sales price variance
2 = (P1-P0)*Q1 = (30,225/4,650- 6)*4,650= 2,325(F)

0.5d

2.2 The the sales volume contribution variance
= (Q1-Q0”)*(P0-C0) = (4,650- 5,000)*(6-2.4)=-1,260 (A)

0.5d

Cau | If without 20% idle time
3 The labour hours make 5,000 units is: 5,000*5=25,000 hour (0.5d)

If have 20% idle time
The labour hours make 5,000 units is X:
With X-20%X=25,000 => X= 31,250 hour
= the budgeted total labour cost for the next period is: 31,250*8=
$250,000 (0.5d)

1d

Piém tong

10.0

Nguwoi duyét dé

TS. Lé Phan Thanh Hoa

TP. Ho Chi Minh, ngay 06 thang 11 ndam 2024
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